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 Seu nome 

 

INSTRUÇÕES: 

As páginas deste caderno estão numeradas e contêm 30 (trinta) questões. 

O candidato somente poderá levar o Caderno de Questões depois de decorridos 90 (noventa) 

minutos do início da prova escrita. 

      ATENÇÃO: 

1. Verifique se as páginas deste caderno estão corretas. 

2. Verifique na FOLHA DE RESPOSTA se o seu nome, nº do documento e o cargo para o qual 
concorre estão corretos. 

3. Observe as recomendações impressas na FOLHA DE RESPOSTA. 

4. Leia atentamente cada questão e assinale na FOLHA DE RESPOSTA a opção que a responde 
corretamente. 

5. Se você precisar de algum esclarecimento consulte o fiscal. 

6. Você dispõe de 3 (três) horas para fazer a prova, inclusive o preenchimento da FOLHA DE 
RESPOSTA. Faça-a com tranquilidade, mas CONTROLE O TEMPO. 
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CARGO: PROFESSOR DE INGLÊS 

 

 

LÍNGUA PORTUGUESA 

 

TEXTO: 

CADA VEZ MENOS INSETOS ESTÃO ATINGINDO O PARA-BRISA DO SEU CARRO 

Todo verão, quase nos últimos 20 anos, voluntários da Kent Wildlife Trust y Buglife e da 

Buglife, ambas no Reino Unido, têm rastreado as placas dos carros. Mas não da maneira que você 

imagina. O objetivo das inspeções é registrar o número de insetos voadores atingidos por veículos.  

Embora isso possa parecer insignificante, a escala desse projeto de ciência cidadã o torna 

importante. Com quase 700 participantes, a campanha Bugs Matter de 2023 coletou dados de 6.358 

viagens, o que pode ajudar a tirar conclusões muito mais amplas.  

Os resultados da campanha de 2022 mostraram uma redução, em menos de 20 anos, de 64% 

no número de insetos atropelados por carros. Esses resultados reforçam uma tese que está 

preocupando os cientistas: essa perda maciça de vida de insetos demonstra que estamos nos 

aproximando cada vez mais da sexta extinção em massa.  

Infelizmente, estudos mostram que o Reino Unido não é o único lugar onde as populações 

de insetos estão diminuindo; foram realizados estudos em toda a Europa que chegaram a 

conclusões semelhantes. Para obter medições realistas, a pesquisa mais rigorosa utiliza estudos 

históricos que rastreiam as populações de insetos ao longo de décadas.  

Na Alemanha, um estudo de 27 anos foi publicado em 2017, mostrando que 76% da 

biomassa de insetos voadores foi perdida em uma ampla rede de espaços naturais.  

Na Dinamarca, uma redução no número de insetos foi documentada juntamente com a 

diminuição do número de pássaros, como a andorinha-das-chaminés, que se alimentam deles.  

As sociedades científicas de entomologistas da Espanha e de Portugal se reuniram em junho 

deste ano em Alicante para o XX Congresso Ibérico de Entomologia.  

Alarmados com o declínio das populações de insetos, eles publicaram um manifesto com o 

objetivo de aumentar a conscientização social sobre essa situação sem precedentes e pôr um fim a 

ela.  

Entretanto, a situação não está causando alarme apenas na Europa, que é densamente 

povoada e exposta às pressões da atividade humana. Estudos realizados em florestas tropicais de 

Porto Rico compararam os números atuais de insetos com os de 36 anos atrás, com resultados 

igualmente catastróficos: uma redução de mais de 78% na biomassa de insetos que vivem no solo. 

Esse estudo também mostrou um declínio paralelo em animais que comem insetos, como lagartos, 

sapos e pássaros.  

Adaptado de: https://super.abril.com.br/ciencia/cada-vez-menos-insetos-estao-
atingindo-o-para-brisa-do-seu-carro-entenda-por-que/. 
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01) Qual é o papel desempenhado pelos estudos realizados na Alemanha e na Dinamarca no 
contexto da discussão sobre o declínio das populações de insetos? 

A) Os estudos na Alemanha e na Dinamarca são irrelevantes para a discussão sobre o declínio das 
populações de insetos, pois se concentram apenas em dados locais. 

B) Os estudos na Alemanha e na Dinamarca contradizem os resultados da campanha Bugs Matter 
de 2023, mostrando um aumento nas populações de insetos nos últimos anos. 

C) Os estudos na Alemanha e na Dinamarca contribuem para reforçar a tese dos cientistas sobre a 
perda maciça de vida de insetos, apresentando dados específicos sobre a redução da biomassa. 

D) Os estudos na Alemanha e na Dinamarca são mencionados no texto, mas não têm relação direta 
com a preocupação dos cientistas em relação ao declínio das populações de insetos. 

 

02) No trecho “Os resultados da campanha de 2022 mostraram uma redução, em menos de 20 anos, 
de 64% no número de insetos atropelados por carros”, as vírgulas foram usadas para 

A) separar o aposto explicativo. 

B) separar o deslocamento do adjunto adverbial. 

C) separar o verbo e o seu complemento. 

D) separar elementos com a mesma função sintática. 

 

03) Analise o trecho “a pesquisa mais rigorosa utiliza estudos históricos que rastreiam as 
populações de insetos ao longo de décadas” e assinale a alternativa errada sobre a morfologia das 
palavras destacadas. 

A) “a” é um artigo definido feminino plural. 

B) “rigorosa” é um adjetivo feminino singular. 

C) “insetos” é um substantivo masculino plural. 

D) “de” é uma preposição. 

 

04) Observe: 

I - No texto, as palavras “Espanha” e “Portugal” são grafadas com iniciais maiúsculas porque são 
nomes próprios. 

II - “Congresso Ibérico de Entomologia" é grafado com letra inicial minúscula por se tratar do nome 
de um evento. 

III - “a andorinha-das-chaminés” está grafado com hífen por se tratar do nome de uma espécie de 
animal. 

A) Apenas I está correta. 

B) Apenas II está correta. 

C) Apenas II e III estão corretas. 

D) Apenas I e III estão corretas. 
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05) Em “O semicírculo foi feito com muita destreza”, assinale a alternativa correta sobre o uso de 
prefixo e sufixo das palavras destacadas. 

A) “semicírculo” possui um prefixo e “destreza” possui um sufixo. 

B) “semicírculo” possui um prefixo e “destreza” não possui prefixo ou sufixo. 

C) “semicírculo” possui um sufixo e “destreza” possui um sufixo. 

D) “semicírculo” e “destreza” não possuem prefixos ou sufixos. 

 

NOÇÕES BÁSICAS DE INFORMÁTICA 

 

06) Como você pode gerar automaticamente um índice de termos em um documento do Word? 

A) Usando a função 'Sumário' 

B) Inserindo um 'Índice Remissivo' 

C) Aplicando a ferramenta 'Legendas' 

D) Utilizando o recurso 'Referências Cruzadas' 

 

07) Qual das alternativas abaixo, no contexto de planilhas eletrônicas utilizando o MS Excel, que 
melhor descreve uma função SE para verificar se a célula B2 é menor ou igual a 20? 

A) SE("B2<=20"; "Sim"; "Não") 

B) SE(B2; "<=20"; "Sim"; "Não") 

C) SE(B2<=20; "Sim"; "Não") 

D) SE(B2 - "20"; "Sim"; "Não") 

 

08) Qual, das funções relacionadas nas alternativas abaixo, no contexto de sistemas operacionais, é 
mais crítica para evitar travamentos do sistema? 

A) Alocar memória para programas 

B) Armazenar dados permanentemente 

C) Aumentar a capacidade física de memória 

D) Criar conteúdo digital 

 

09) No PowerPoint, qual recurso permite que o apresentador tenha, entre outras informações, uma 
tela com notas e um preview do próximo slide sem que estas informações sejam mostradas na 
apresentação principal? 

A) Modo de Exibição de Notas 

B) Modo de Exibição do Apresentador 

C) Modo de Leitura Dinâmica e estruturada de tópicos 

D) Modo de Exibição de Modelos 
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10) Como você usaria a função CONT.SE no Excel para contar quantas vezes o valor '10' aparece em 
toda a coluna A? 

A) CONT.SE(A1:A10; "10") 

B) CONT.SE(A1:A10; "=10") 

C) CONTAR-SE(A:A; 10) 

D) CONT.SE(A:A; 10) 

 

CONHECIMENTO ESPECÍFICO 

 

11) According to the sentence “Cats have 276 distinct facial expressions, a discovery that turns on 
its head the popular belief that our pet felines are aloof and just not that into us” 

(https://www.nationalgeographic.com/premium/article/cats-facial-expressions-pets-behavior), the word in bold is 

A) Adjective 

B) Adverb 

C) Pronoun 

D) Noun 

 

12) The adverb in “We are trying to give them an opportunity to show their personality, rather than 
just showing how they perform in an interview” can be replaced, without change in meaning, by 

A) Furthermore  

B) Instead of 

C) Besides 

D) Almost 

 

13) The words in bold walking, riding and swimming are all present continuous verbs, but each one 
of them follows a different spelling rule. Which alternative shows present continuous verbs that 
follow the same rules, respectively? 

A) listening - writing - clapping 

B) waving - singing - walking 

C) sitting - reading - jumping 

D) eating - running - stopping 

 

 

https://www.nationalgeographic.com/premium/article/cats-facial-expressions-pets-behavior
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14) Read the text and answer the question.  

Technology is the driving force behind the rapid evolution of our modern world. From the smallest 
gadgets to the ________________ systems, technology permeates every aspect _________ our 
daily lives. It enables instant communication across the globe, facilitates breakthroughs in medical 
science, ______ automates tasks for increased efficiency.  

Mark the alternative that fills in, correctly and respectively, the gaps in lines 2, 3 and 4 with 
superlative structures and prepositions.  

A) most expensive - in - but  

B) most frightening - of - or  

C) most complex - of - and  

D) most interesting - on - and 

 

15) In the sequence, the terms unkind, misuse, helpful and fearless are: 

A) suffix - suffix - prefix - suffix 

B) prefix - prefix - suffix - prefix  

C) prefix - prefix - suffix - suffix  

D) suffix - prefix - suffix - prefix  

 

16) Analyze the following sentences and choose the correct meaning of the highlighted words. 

• I think it's very unkind of you to make up stories about him. 

• The victim was apparently trying to get away when he was shot. 

• She looks after her sister. 

A) contar - levantar - olhar 

B) sussurrar - correr - procurar 

C) investigar - esconder - admirar 

D) inventar - escapar - cuidar 
 

17) In terms of the use of prepositions, which sentence is wrong? 

A) His music was very influenced by Jamaica. 

B) Due to the storm, he will arrive to 5pm for his concert. 

C) The character Gregory House in the hit TV series House M.D is based on Conan Doyle’s detective 
Sherlock Holmes. 

D) The mom said to his son to not be worried about the test. 
 

18) Choose the sentence in the passive voice. 

A) I’ve been to Switzerland for twelve years. 

B) The magician pulled a rabbit from the hat. 

C) Love in the Time of Cholera was written by García Márquez. 

D) James Cameron directed Avatar. 



6 

 

19) Stress and anxiety have similar symptoms. However, stress tends to be shorter than anxiety. 

Whereas, it may linger and not have an easily identifiable trigger  

(https://www.medicalnewstoday.com/articles/stress-vs-anxiety). 

In the bold sentence, the words show:  

A)  The use of a phrasal verb 

B)  The use of the superlative. 

C)  The use of an idiom. 

D) The use of the comparative. 

 
Read this comic to answer questions 20 and 21. 

 

 

20) In the comic, Jon decided to organize a party. So, in the first comic, he uses the present perfect 
"I’ve decided to throw a party" to 

A) express his solidarity with Garfield and invite some of his friends.  

B) tell Garfield that he settled the idea of making a party. 

C) notify Garfield that he's going to have a nice party.  

D) show that he has decided all the party elements.  

 
21) In the last comic, Jon says that he'd better start making plans and Garfield adds that 

A) Jon needs to make friends. 

B) He won't be at the party. 

C) Jon has lots of friends. 

D) all of Jon's friends will be at the party. 
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Read this text to answer questions 22 and 23. 

There are many health benefits of owning a pet. They can increase opportunities to exercise, get 

outside, and socialize. Pets can help manage loneliness and depression by giving us companionship. 

People who have pets have a lower risk of developing heart problems than those without pets, 

according to researchers at the Baker Medical Research Institute in Melbourne, Australia, who 

found that pet owners have lower blood pressure and cholesterol levels across the board regardless 

of their smoking habits, diet, body mass index or income level  

(Adapted from: https://www.livescience.com/32746-is-having-a-pet-good-for-your-health-.html) 

 

22) According to the text,  choose the correct alternative that reflects the main idea of the text. 

A) The text presents examples of dogs trained to identify and detect diseases. 

B) There are examples in the text of animals that have saved their owners' lives in car accidents.  

C) In the case of patients with heart problems, doctors have considered the benefits of pets in 
conjunction with other factors and lifestyles.  

D) The text contains evidence demonstrating the health benefits of pets for their owners.  

 

23) In the sentence “People who have pets have a lower risk of developing heart problems than 
those without pets” the word in bold refers to which term  

A) Pets 

B) People 

C) Disease 

D) Lower risk 

 

Read this text to answer questions 24, 25 and 26. 

In today's dynamic job market, various skills are highly valued by employers, such as effective 
communication, problem-solving, and adaptability. As well, technical proficiency is often a 
prerequisite for many positions. It is crucial for individuals to continuously enhance their skills, 
whether through formal education or self-directed learning. As the professional landscape evolves, 
staying abreast of industry trends and emerging technologies is essential. It's not only about 
acquiring new knowledge but also applying it in real-world scenarios. Embracing a diverse skill set, 
such as both soft skills and technical expertise, can significantly enhance one's employability. As 
well, cultivating a proactive and collaborative mindset is instrumental in navigating the challenges 
of the contemporary workplace.  

 

24) Choose the alternative that reflects the idea of the text. 

A) The job market is increasingly competitive and employers have a lot to choose from. 

B) Competencies are key to thriving in today's competitive job market. 

C) In today's job market, professionals need to work collaboratively. 

D) Professional training is not necessary, technical proficiency is enough. 
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25) In the excerpt: “It is crucial for individuals to continuously enhance their skills, whether through 
formal education or self-directed learning”, the term highlighted means 

A) a partir de. 

B) por meio de. 

C) ao longo de. 

D) a respeito de. 

 

26) In the sentence “. It's not only about acquiring new knowledge but also applying it in real-world 
scenarios”, the word “it” refers to 

A) Technologies  

B) Skills 

C) Knowledge  

D) Landscape  

 

27) Considering the linguistic aspects of the text, choose the incorrect alternative: 

A) The expression such as in bold was used to list some examples of the skills that are important in 
the job market. 

B) The word skill can be replaced by ability. 

C) As well is an adverb which means also or in addition. 

D) The word crucial has the function of a noun and not an adjective. 

 

28 ) Look: 

 

In the cartoon the sentence “It’s a beautiful day, isn’t it?” the “isn’t it?” is a Tag Question. According 

to Cambridge dictionary, a tag question is “a short phrase added to the end of a sentence to check 

information, or to ask if someone agrees with you”  

(https://dictionary.cambridge.org/dictionary/english/tag-question).  

Choose from the alternatives below, the tag question that uses an incorrect auxiliary verb form:  

https://dictionary.cambridge.org/dictionary/english/short
https://dictionary.cambridge.org/dictionary/english/add
https://dictionary.cambridge.org/dictionary/english/sentence
https://dictionary.cambridge.org/dictionary/english/check
https://dictionary.cambridge.org/dictionary/english/information
https://dictionary.cambridge.org/dictionary/english/ask
https://dictionary.cambridge.org/dictionary/english/agree
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A) You won't tell anyone, will you? 

B) You thought it was still six, didn’t you? 

C) Yesterday was so much fun, wasn't it? 

D) You haven't seen this film, has you?  

 

 

29) Eating a wide variety of nutritious foods, including fruit, vegetables, nuts, seeds, and lean protein 
can help to support your overall health  

(https://www.healthline.com/nutrition/50-super-healthy-foods).  

Synonym is a word or phrase that has the same or almost the same meaning as another word or 
phrase in the same language 

(https://dictionary.cambridge.org/us/dictionary/english/synonym). 

Analyzing the excerpt from the base text, mark the alternative that represents synonym 

A) Eating – consume. 

B) Wide – big. 

C) Help – aid. 

D) Variety – others. 

  

 

30) Read the text and answer the question. 

Academic internationalisation policies have been a trend since the late 20th century at HEIs all over 
the world. This process is an important step towards transforming education, research and 
extension, training professionals with multicultural attitudes and global thinking and has grown in 
scope, scale and value, emerging as a rapidly evolving process. This process can help develop 
students' international and intercultural knowledge, competences and values - through improved 
teaching and learning, international mobility, and a curriculum that includes comparative, 
international and intercultural elements. Comparative, international and intercultural elements to 
ensure that students are better prepared to live and work in a more interconnected world. 
Furthermore, internationalisation seeks to improve the quality of teaching and research for all 
students and staff and to make a significant contribution to society. 

(OLIVEIRA, F. B. Percepções de Discentes de uma Universidade Pública Paranaense sobre o Inglês Como Meio de 
Instrução. 133 f. Dissertação (Mestrado em Letras) Universidade Estadual de Maringá, Maringá - Pr).  

Analyze the assertions below based on the text: 

I. Internationalisation only takes place in English-speaking countries. 

II. This process can improve the quality of education. 

III. Internationalization has been a trend over the last 20 years. 

Choose the correct answer: 

A) Only I is correct.  

B) Only II is correct. 

C) II and III are corrected.  

D) I and II are corrected. 

https://dictionary.cambridge.org/us/dictionary/english/almost
https://dictionary.cambridge.org/us/dictionary/english/meaning
https://dictionary.cambridge.org/us/dictionary/english/language

